Statistical classification standard of large, medium, small and micro enterprises

Industry

Indicator

Unit of measurement

Large-sized enterprise

Medium-sized enterprise

Small-sized enterprise

Micro-sized enterprise

Agriculture, forestry, animal

i = sY< <Y< <
husbandry and fishery Operating revenue (y) Ten thousand yuan Y =20,000 500=Y<<20,000 50<Y<<500 Y<<50
Employee (x) Persons X=1000 300=<X<1,000 20<X<<300 X<20
Industry*
Operating revenue (y) Ten thousand yuan Y =40,000 2,000=<Y<<40,000 300=<Y<2,000 Y <300
Operating revenue (y) Ten thousand yuan Y =80,000 6,000=Y<80,000 300=<Y<<6,000 Y<<300
Construction
Total assets (z) Ten thousand yuan 7.2=80,000 5,000=7<80,000 300=Z<5,000 Z<<300
Employee (x) Persons X=200 20<X<<200 5<X<20 X<5
Wholesale trade
Operating revenue (y) Ten thousand yuan Y =40,000 5,000=Y<<40,000 1,000=<Y<<5,000 Y<1,000
Employee (x) Persons X=300 50=<X<<300 10<X<50 X<10
Retail trade
Operating revenue (y) Ten thousand yuan Y =20,000 500=<Y<<20,000 100<Y <500 Y<<100
Employee (x) Persons X=1,000 300=X<<1,000 20=X<<300 X<20
Transportation*
Operating revenue (y) Ten thousand yuan Y=30,000 3,000=Y<<30,000 200<Y<<3,000 Y <200
Employee (x) Persons X=200 100=X<<200 20<X<<100 X<20
Warcehousing*
Operating revenue (y) Ten thousand yuan Y=30,000 1,000=Y<30,000 100=<Y<{1,000 Y<100
Employee (x) Persons X=1,000 300=X<1,000 20<X<<300 X<20
Postal service
Operating revenue (y) Ten thousand yuan Y =30,000 2,000=Y<<30,000 100<Y<2,000 Y<100
Employee (x) Persons X=300 100=<X<<300 10=<X<100 X<10
Lodging service
Operating revenue (y) Ten thousand yuan Y=10,000 2,000<Y<<10,000 100=<Y<<2,000 Y<100
Employee (x) Persons X=300 100=X<<300 10=X<100 X<10
Catering service
Operating revenue (y) Ten thousand yuan Y =10,000 2,000=Y<10,000 100<<Y <<2,000 Y <100
Employee (x) Persons X=2,000 100=X<<2000 10=<X<100 X<10
Information transmission*
Operating revenue (y) Ten thousand yuan Y=100,000 1,000=Y<<100,000 100=<Y<1,000 Y<100
Employee (x) Persons X=300 100=X<<300 10=<X<100 X<10
Software and information
technology services
Operating revenue (y) Ten thousand yuan Y =10,000 1,000=Y<10,000 50=<Y<1,000 Y<50
Operating revenue (y) Ten thousand yuan Y =200,000 1,000<Y <<200,000 100<Y<1,000 Y <100
Real estate development and
management
Total assets (z) Ten thousand yuan 7210,000 5,000=7Z<10,000 2,000=Z<5,000 7<2,000
Employee (x) Persons X=1,000 300=<X<1,000 100<=X<<300 X<100
Property management
Operating revenue (y) Ten thousand yuan Y =5,000 1,000=<Y<<5,000 500=<Y<1,000 Y <500
Employee (x) Persons X=300 100=<X<<300 10=<X<<100 X<10
Leasing and business services
Total assets (z) Ten thousand yuan Z=120,000 8,000=Z<120,000 100=Z<8,000 Z<100
Other industries not listed* Employee (x) Persons X=300 100<X<<300 10<X<<100 X<10




